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Section A (20 x 2 marks = 40 marks)

Choose the correct answer for eac

h gquestion. Write its number in the brackets

provided.
1. In the number 8 459, the digit 4 is in the place

(1)  ones

(2) tens |

(3)  hundreds ;

(4)  thousands | ( )
2. Which of these numbers is the greatest?

(1) 4673 |

(2) 4763 15

(3) 4736

(4) 4637 ¢ )
3. 7 thousands + 1 hundred + 3 tens + 4 ones is

(1) 7134

2) 7143 f

(3) 7341 ﬂ

(4) 7431 ( )
4. What number comes just before 7 2507 {]

(1) 7248 {

(2) 7249

(3) 7251

4) 7252 ( )




100 less than 6 739 is

(1)
(@)
(3)
(4)

6 539
6 639
6 839

6 939

Look at the following numbers below.
Which number has the digit 7 in the tens place?

(1
)
3
(4)

8 317
3 781
7 138

1873

Add 3 699 to 101. The answer is

(1)
(2)
3)
(4)

3700

3790

3 800

3 890

The difference between 75 and 8 751 is

(M
(2)
(3)
(4)

8 001
8 676
8 724 -

8776



i '\\

10.

11,

12.

Complete the number pattern below.

3739, 3936, ‘2
(1) 3839
(2) 4039
(3) 4139
(4) 4239
3 000 — 659 =
(1) 2341
2) 2659
(3) 3451
4) 3659
7354 +315 =
(1) 7039
@ 7041
(3) 7661
(4) 7669

How many hundreds are there in 3 6007

(1 3

(2) 6
3) 36
(4) 360

4 339




13.

14.

15.

16.

3+3+3+ =5x4

(1, 9

@ 11

3) 20

4 29

45+5=__  -100
(1y @

@) 60

@ 91

@) 109

There were 4 630 books at the library.
259 books had been borrowed.
How many books were left at the library?

(1) 4371
() 4429
(3) 4431
(4) 4889
6324 + 34 tens =
(1) 6024
2) 6290
(3) 6358
(4) 6664

f’“"’»}
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17.

18.

19.

Which of the following is equal to 5 763 + 3 2007

(1) 8000 + 60 + 3
(2) 8000 +500 + 60 +3
(3) 8000 + 700 + 60 + 3

(4) 8000+900+60+3

Multiply 6 by 4. The answer is

(1) 324
2) 376
3) 424
(4) 464

/_
/313_“

, ]
< e
v stands for .

(1) 271
@) 584
(3) 699 ,'
4) 856

/
428
\

A

vy
@

VQ\
/

115

less than 400.

X

\

156

(



20,

M
(2)
3)
(4)

stands for

20
34

66




Section B (20 x 2 marks = 40 marks)

Fill in the answers in the boxes provided. Show relevant workings as marks will
be awarded.

21. Write 7 809 in words.

22.  Using the given digits ONCE only, form the greatest 4 digit number.

ORONORO

.

23.  Arrange the numbers in order. Begin with the greatest.

E s I o e |

Greatest




24. What number is 200 more than 7 3257

26. Look at the number pattern below. Fill in the missing numbers.

1045, 2045, ‘ 4 045

27. Samuel has 679 stickers.
Douglas has 37 fewer stickers than Samuel,
How many stickers does Douglas have?

!




Pl
4 3

4 1
o

28.

29.

30.

31.

Joy made 45 paper flowers for her teachers.
She gave each teacher 5 paper flowers.
How many teachers did she give the paper flowers to?

A string is 370 cm long.
A ribbon is 164 cm shorter than the string.
What is the length of the ribbon?

There are 3 giris and 1 boy doing community work.
There are 24 windows to be cleaned.
How many windows does each child have to clean?

E

40+5= groups of 5.

teachers

cm

windows




32.

-+
3 P 6 3
5 0 0 0 ( 1 mark)
b} 7 2 ' l 3
1 6 T4 1
5 5 7 2 (1 mark)
_ .
33. 8 hundreds 4 ones = 7 hundreds ones

34.  Add 36 to the product of 9 and 3. The answer is

10



35.

36.

37.

38.

Subtract 230 from the sumzof 1 875 and 2 654. What is the answer?

6362 = l l + 1000

A cake was cut into 9 equal pieces.
Nicholas gave way 4 pieces.
What fraction of the cake was left?

Add all the numbers from 1 to 20 What is the ones digit in the answer?

{42+3+4+5+6........ —> + 19+20 =2




39.  Nurul opens the dictionary and discovers that the sum of the left and right pages
is 103. What are the two pages?

40. 1 bicycle has 2 wheels.
1 tricycle has 3 wheels.

Bicycle Tricycle

How many bicycles and tricycles are there if there gre 22 wheels altogether?

There are bicycles and tricycles.

12



Section C (5 x 4 marks = 20 marks}

Read the story sums carefully and work out the answers. Show your workings
clearly.

41. Joshua, Claudia and May took part in a marathon together.

Joshua jogged 4 310 m.
Claudia jogged 2 460 m and May jogged the last 1 084 m.
How far did the three children jogged altogether?

Answer:

13




42.

e

MM%

There are 3 489 marbles in a box.

There are 2 178 red marbles and the rest are blue marbles.

a) How many blue marbles are there?

b) How many more red marbles than blue marbles are there?

Answer:

14

Answer:

blue marbles

more red
marbles.




43.

Mrs Raj bought 8 boxes of eggs.
There were 20 eggs in each box,
She threw away 56 rotten eggs.
How many eggs were good?

15

Answer:

eggs



44.  There are 3 659 girls in National Primary $chool.
There are 1 764 fewer boys than girls.

How many pupils are there in_National Primary School?

Aaswer: ( pupils

16



P
i

45, Amanda and Lucas shared $60.
Lucas received twice as much as Amanda.
How ml{ICh money did Amanda receive?

Answer: $

@ Make sure you have checked all your answers ©
END OF PAPER
wrt

17
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ANSWERS

SECTION A

OLR N

(3)
(2)
(1)
(2)
(2)

) 1. (4)
(3) 12. (3)
2) 13. (2)
(3) 14. (4)
0. (1) 15. (1)

LN

SECTIONB

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31
32.

33

34.
35.
36.
37.
38.
39.
40,
41
42.
43.
44,
45,

Seven thousand, eight hundred and nine.

8532

6143, 4316, 3641,1364
7525

860

45, 3045

842

9

206

6

9

3 32b 1
104

63

4299

5362

5/9

0]

51 & 52

28&86

7834

1311 blue marbles
104

5554

$20

16.
17.
18.
19.
20.

2178 more red marbles



